® 9x-7Ty @ 3x+9y ®)3x+ Ty

9x2 — 49y? = (3x)%2 - (7y)? = (3x - Ty)(3x + 7y)




—~

x—=2y)(x—2y—4z) - 1222 o] A7 1 Q1 F dApA o) Fo=m
ol o, & Ao e Aot ?

T

® 2x-4y+4z (@)2x—4y—4z ® 2x-4y+ 3z

@ 2x 44y +4z ® 4x-2y-4z

~&B

x—2y=A 2} o}H
A(A -4z) - 1272 = A% - 4Az - 1272

= (A-62)(A + 22)

= (x=2y-62)(x - 2y + 22)
L (x=2y—6z)+ (x—2y+2z7) =2x—4y -4z




3.  Ha dgEs] HENA ol A BF A=Y (Fa>0,b>0)

WAyl dy -1 = - (D2 -y +1)=x - (2y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@)a? - 2ab + b* = (a - b)?
@)a?-b? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

~&B ~

X% —4y? +4y-1

=x>-(H?-4y+1)

=x2-(2y-1)%2 .- [a®>-2ab+b* = (a—-b)?]
=(x+2y-1)(x-2y+1) - [@®*-b*=(a+b)(a-b) ]




® 12

8

x2 +8x=A =54

(¥ +8x+7)(x* +8x+15) — p
=(A+7)(A+15)-p

= A2+ 22A +105-p = (A + 11)2
- 105 - p =121

oo p=-16




5. a+b=1,ab=-6<L W, a%+b* 2 g FotHA?

D 12 (@)13 ® 14 @ 15 ® 16

~&B

a4 b2 = (a+b)* - 2ab
=12-2x(-6)
=1+12
=13
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6.

@ 2 ® 4 @)6 ® 8

D1

~—

~— — —




a, b, ¢ 7F 7RG Al §le] Aold W, b +b*c+bc?~a’b+c®~a*c = 0

7.

2 FeH? (H a, b, ¢ 7t

e
L

B/

o] dojoltt.)

g

B9 A

N
=

0

b (b +c) + b(c? - a®) + c(c? - a?)
b (b +c) + (b+c)(c? —a?)

(b+c)(b? + c? - a?)

b3 + b%c + bc? — a?b + ¢ - a’c
b, c= 730l &

o

2kA b2+ ? -a® =0, b% + ? = a?




